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25 Hint: Express 181 as a sum oftwo

square numbers then lind their square

roots.

181 = 100 -l- 8L

1't = fibfi'= 10

2"d =l/FiT. = 9

T he nutnber s arit 9 and 7A
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A + rB Mix

40 + x (40 +.r)

*1 120 160

t-
(200 x 40) + (120 x r) = 160(,10 +z)

B, 000 + tZAx = 6,40O * !6Ox
8, 000 - 6,400 = l60x - tZOr

1,600 * 40r
1,600 40x__=-40 40

x=40
Quilntity of muize is 40kg

Part (a) (T e acher' s guidanc e)

Part {b)
x -.axis
Ssq = 60min
lsq=(60+S)mia

Let total number be t
'ito
,66x t, = Z?i0Teachers

220x360 10 x 720
f 3.--_= 

=110 350

t=720
Part (b)

Boys =Total - (Girls + teaehers)

.720- t220 + 20)

=720-24A

= 480 boys

Lzx+ 601;1t)0o(n-Z)
tZx* 60'= 180o(5 -Z)
LZx*600=1800x3
lZx*600=5400
LZx=540o*600
tZx = 4B0o

lZx 4t]0o

72 =-T
x:4Oo

2x =2 x 40o = 80o
(3 x 40o + 116) = LZoo* 1lo = 1310
(2 x 40o + 34a) = 80o * 34o = l!4o
(2 x 4Ao + 11o) = 80o * llo = g7o

(3 x 40o -F 40) = 1200 + 40 = ,.}4o

part 
{q)

Distance cov*red by cyclist before

motorist started moving

D =,S x T ='l Skrn/hr xZhr = 30km
Time taken by rnotorist to catch up with

cyclist

D 30ktn 30
'=3;1r=;3;3=Ir='L'
Distancc frorn Kigali covercd when

motorist oveltake cyclist

D =.$ x T = &$ltm/hr x Lhr = 4Skm
part (b)

7 = 8: 00am *Zhr * thr
= Ll:AAam

ffiI6[1J:,ffiTitafa$
= 1800 - 1100

= 7Ao

b=C= 7Aa gsosce tes triwtgte)

tt = Zto (synrmetry tine )
.syrnrnetry lines divi.des the

triattgle htto two equal angles
antd two equulright anglecl

tri.attg les.

414rr(,nths = i, = 5/r (3 rimcs)

1st third o-f a veel

I = 250,ooo x ] * *- - T,soott'3100
rl = 250,000 -h 7,500 = 257,500fi

!1!!,[{ of a pa1
1{r

I * 257,500 x i x ;i = Z,zzst''3100
lr = 257,50A + 7,ZZS = 265,225I:

-sjlud_qfilearlEqs. of y oer)

1(l
I = ?65,ZZS x )x J-: = Z,gS1.7St:' 3 100

- 273,1t]1.7Sfz.tir

emtl{ (t ;; 
" 

i,i,-;;Ur,,-*rrcij- -'

part (b)

?'"1'd = Z(LVI -l rtlll ^F l.fi)
= 2{12x 6 * 6 x 5 1- 12x S)crr2

= 2(72 -l-30 + 60)cn*

= 2 x 1,6?ctnz

= 324tn*

part {bJ

V=l,Y,WxH

= l?unx 6unx Sctn

= 360crn3

(b).Z3km= 4h (J x ta)min

tc).= 7km= LZmin
y * axts
Ssr; = 5;gm

Part (bl
Tfx89Average=fi=ZB=r.SU

(i).Ang.ABD = (600 .+, 2) = 30o

(ii). Ang. ADB = 180, - (60, + 30o)

= 1800 - 90o

= 90o

(iiil.Ang,DAg = (90o + Z0) - 45o

Q\m = (10cm +Z) a ggtn

bxh 15xB.7)
\c ). = -T- = --f- = 21..7 Sctnz

(d),BAE=BAD+DAE

= 600 * 45o

,: 1054

= lkm

= 4hr 36min


